IN231100336V01_GL

84A-314V00

R

EN_Only for domestic use

FR_Uniquement pour un usage domestique
ES_Solo para uso doméstico

PT_Apenas para uso doméstico
DE_Nur fir den Hausgebrauch

IT_Solo peruso domestico

EN_IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY.

FR_IMPORTANT:ALIREATTENTIVEMENT ET A CONSERVER POUR CONSULTATION
ULTERIEURE.

ES IMPORTANTE, LEAY GUARDE PARA FUTURAS REFERENCIAS.

PT_IMPORTANTE, RETER PARA REFERENCIA FUTURA: LEIA ATENTAMENTE.

DE_WICHTIG! SORGFALTIG LESEN UND FUR SPATER NACHSCHLAGEN AUFBEWAHREN.

IT _IMPORTANTE! CONSERVARE IL PRESENTE MANUALE PERFUTURO RIFERIMENTO E
LEGGERLO ATTENTAMENTE.



https://manuals.plus/m/abd3a81e11c75bf6fb00949088f3d5436b3785da1a135aada9e1ee487e15fa49

PARTS

Ll
[
s
S S S : a
X X / X - ! w“n
' | __. ___. ) m H\
m m __ __ __ o m
! ! I !
m m _: . m
m ! _ !
" m _____ "
! | l __ h "
| | Ve |
m sl & ........ 2 m
| f (-
m _________ _, _ m
e ‘__ it m
o ! | __ X
al ___ ___ ___ __. m
| ____W \ .m |
m 2 ; 2 m
! i A1 "
m i | m
' _____“__ _ _ m
_____ Pl
| I W
m ____ ___ _. __._ m
m ________ __lnru_. m

@ X02
M10790

M10*110

~Te
— | <=
©
= o
@ s
‘ +
|
|
|
|
|
|
|
|
|
|
|
|
|
INHI= o ]
o (S o 0
X | X bt
o = —
2 g n
= m I 2]
| HE | ! __ T
| 1 1
" | _h__ 11 -.r
" | il o
\ “ i 3
| | Rt ]
| | =
! ! L
1 | {
1 I .
: :
® |9 v N
X |
ol =i e
— | —
S|y @
1 i l l
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
_ _ _
S |9 S 3 o
< [T R < |=
o =1 &
5| E . ©H
E= _ MUW _ L
'
| | | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
1 | |
L L

|||||||||||||||||||||||




EN_Do not confuse similar screws.Do not tighten bolts fully until all parts are connected! \
FR_Ne pas confondre des vis similaires.Ne serrez pas les boulons a fond tant que toutes les

piéces ne sont pas connectées!

ES_No confunda tornillos similares.No apriete los tornillos completamente hasta que todas las
partes estan conectadas!

PT_Nao confundir parafusos semelhantes. Nao apertar completamente os parafusos até que todas
as pecas estejam encaixadas!

DE Verwechseln Sie ahnliche Schrauben nicht.Ziehen Sie die Schrauben erst fest an, wenn alle
Teile verbunden sind!

IT _Non confondere le viti simili.non serrare completamente i bulloni fino a tutte le parti non sono
ancora collegate!

x04
M10*130

x01
M10*100 g 9

(@)] <01 2 s

i

=

©

| 8
g
| g
g %@
8
5




x01
M10*140

-.
i g




Y

Blgp o B

||||||||||||||||||||||||||||||||||||||||||||||




If you have any questions, please contact our
customer care center.
Our contact details are below:

@ 001-877-644-9366

M customerservice@aosom.com
Imported by Aosom LLC

27150 SW Kinsman Rd Wilsonville, OR 97070 USA

MADE IN CHINA

If you have any questions, please contact our
customer care center.
Our contact details are below:

& 416-792-6088

»V. |< customerservice@aosom.ca

Imported by Aosom Canada Inc.

7270 Woodbine Avenue, Unit 307, Markham,
Ontario Canada L3R 4B9

MADE IN CHINA

Si vous avez la moindre question, veuillez

contacter notre centre d'assistance a laclientele.

Nos coordonnées sont les suivantes:
& 416-792-6088

}Y |< customerservice@aosom.ca

Importé par Aosom Canada Inc.
7270 Woodbine Avenue, unité 307,
Markham, Ontario Canada L3R 4B9
Fabriqué en Chine

If you have any questions, please contact our
customer care center.
Our contact details are below:

& 0044-800-240-4004
Menquiries@mhstar.co.uk
IMPORTER ADDRESS:

MH STAR UK LTD

Unit 27, Perivale Park,
Horsenden lane South

Perivale, UB6 7TRH

MADE IN CHINA

Si tiene alguna pregunta, comuniquese con
nuestro Centro de Atencion al Cliente.
Nuestros datos de contacto son los siguientes:

O 0034-931294512

M atencioncliente@aosom.es

IMPORTADOR:

SPANISH AOSOM, S.L.

C/ROC GROS, N° 15. 08550, ELS HOSTALETS DE
BALENYA, SPAIN.

B66295775

WWW.AOSOM.ES

HECHO EN CHINA

Se tiver alguma duvida, por favor contacte o
nosso Centro de Atendimento ao Cliente.
Os nossos dados de contacto sao os seguintes:

@ 0034-931294512 (SEG-SEX DAS 7:30H AS 16:30H)
Wiinfo@aosom.pt.

IMPORTADOR:

SPANISH AOSOM, S.L

C.ROC GROS N.15, 08550. ELS HOSTALETS DE BALENYA
WWW.AOSOM.PT

Wenn Sie Fragen haben, wenden Sie sich bitte m
an unser Kundendienstzentrum.

Unsere Kontaktdaten stehen unten:

@ 0049-0(40)-88307530 WK service@aosom.de

ADRESSE DES IMPORTEURE:
MH Handel GmbH
Wendenstrafie 309

D-20537 Hamburg

Germany

IN CHINA HERGESTELLT

In caso di dubbio, si prega di contattare il
nostro centro assistenza clienti.
| nostri dettagli di contatto sono di seguito:

@ 0039-0249471447 M clienti@aosom.it

IMPORTATO DA:

AOSOM ltaly srl

Centro Direzionale Milanofiori
Strada 1 Palazzo F1

20057 Assago (MI)

P.1.. 08567220960

FATTO IN CINA

Sivous avez la moindre question, veuillez contacter notre centre d'assistance a laclienteéle.

@ 0033-1-84166106 4 aosom@mhfrance.fr
Importé par: MH France 2, rue Maurice Hartmann 92130 Issy-les-Moulineaux

Nos coordonnées sont les suivantes:

Fabriqué en Chine
France

&

DONNEZ
u

0
RECYCLEZ

2 0 O o e

ASSOCIATION

Adresses sur quefairedemesdechets.fr

LIVRAISON  DECHETERIE




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

